
� ω
G C

1

`/r
ÈÂ = C

∗

{
þ� ı=↼u
Y [

þ� ı=⇀u
Y [

� � �: u � C
1

`/r
ÈÂ

p �∞G C
1

−`/r
ÈÂ = W

∗

{
þ� ı=↼u
Y [

þ� ı=⇀u
Y [

� � �: u � C
1

−`/r
ÈÂ

p .|�=Â 2

ÈC

{
left action product

right action product

�=
Â 2

ÈC =
Â 2

È� � �=u
t

�=u
X Z

= � tu

�=
Â

0
ÈC

%←− �

t
%� �=n
Y [

X Z

= %−1

t
�

Y [

�
X Z tn

%� = �
i
=
−
\i

%−1

t
� =

t
%�
XZ

=

t

�
i
=
−
\i

X Z

= �
i

t\i

LHS =

t

�
i
=
−
\i

Y [

�=n
Y [

X Z

=
t

�
i
�

Y[

= \in
Y[

X Z

= �
i
�

Y[

t

\in
XZ

= �
i
�

Y[

t\i tn
Y [

= �
i

t\i

Y [

�
X Z

tn = RHS

%� ı=↼u
Y [

= � %=u � .|�=Â 2

ÈC

t

� %=u
Y [

�=n
Y [

X Z

=

Â∫
ds

%−1

t

s

�=u
X Z

−1
s t

�=n
X Z

= %−1

t
�

Y [

�
X Z

Â∫
ds

su
−1
s tn = %−1

t
�

Y [

�
X Z t

↼un
XZ

=
t
%� �=↼un
Y [

X Z


